the time rate of change in porosity ( resulting from mineral precipitation: 
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where (s and (f are the density of the precipitating mineral and water, respectively, uz is the Darcian velocity, dT/dz is the geothermal gradient and dCedT  the rate of change of solubility with temperature.

 How long will it take the porosity to decrease by 30% and 50%of its original value as a result of quartz precipitation during fluid flow down the temperature gradient? Suppose dT/dz  = 10-20-30 (C/km, dCe/dT = 5 x 10-6 kg (SiO2)/kg(H2O)/(C, the initial porosity is 20%, and the Darcian velocity is 1 m/yr.
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